
Valid from 1 May 2022

ACO FUNKI A/S www.acofunki.com

EUR

Funki Flex  1000| CLEAN-O-FLEX 850 | 
Funki Fiber 875/1000 | Manipulation 
materials |  Blocking gate | Water supply 
| Drinking bowl | Sprinkling and soaking

FINISHERS
Penning Equipment





CONTENTS LIST 

FUNKI FLEX 850  ..........................................................................................................................
FUNKI FLEX 850 GRILLE  ............................................................................................................
FUNKI FLEX 850 FOR FULLPEN GATE  .....................................................................................
FUNKI FLEX 850 ACCESSORIES  ...............................................................................................
CLEAN-O-FLEX 850  .....................................................................................................................
CLEAN-O-FLEX 850 GRILLE  .......................................................................................................
CLEAN-O-FLEX 850 FOR PINLOCK GATE  .................................................................................
CLEAN-O-FLEX 850 GRILLE FOR FULLPEN ..............................................................................
CLEAN-O-FLEX 850 FOR FULLPEN GATE  .................................................................................
CLEAN-O-FLEX 850 LIQUID FEEDING WALL  ............................................................................
FUNKI FIBER 875  ........................................................................................................................
FUNKI FIBER 875 GRILLE  ..........................................................................................................
FUNKI FIBER 875 FOR PINLOCK GATE STAINLESS STEEL  ...................................................
FUNKI FIBER 875 FOR PINLOCK GATE  ....................................................................................
FUNKI FIBER 875 FOR FULLPEN GATE  ...................................................................................
FUNKI FIBER 875 LIQUID FEEDING WALL  ..............................................................................
FUNKI FLEX 1000 VER.2  ...........................................................................................................
FUNKI FLEX 1000 GRILLE  .........................................................................................................
FUNKI FLEX 1000 FOR FULLPEN GATE  ...................................................................................
FUNKI MIX  ....................................................................................................................................
FUNKI FLEX ACCESSORIES  .......................................................................................................
CLEAN-O-FLEX 1000  ..................................................................................................................
CLEAN-O-FLEX 1000 FOR TWIST LOCK GATE  .........................................................................
CLEAN-O-FLEX 1000 GRILLE  .....................................................................................................
CLEAN-O-FLEX 1000 FOR PINLOCK GATE  ...............................................................................
CLEAN-O-FLEX 1000 GRILLE FOR FULLPEN GATE ..................................................................
CLEAN-O-FLEX 1000 FOR FULLPEN GATE  ..............................................................................
CLEAN-O-FLEX 1000 LIQUID FEEDING WALL  .........................................................................
CLEAN-O-FLEX 1000 RARE FRONT PART  ...............................................................................
FUNKI FIBER 1000  .....................................................................................................................
FUNKI FIBER 1000 GRILLE  .......................................................................................................
FUNKI FIBER 1000 FOR PINLOCK GATE STAINLESS STEEL  .................................................
FUNKI FIBER 1000 FOR PINLOCK GATE  .................................................................................
FUNKI FIBER 1000 FOR FULLPEN GATE  .................................................................................
FUNKI FIBER 1000 LIQUID FEEDING WALL  ............................................................................
MANIPULATION MATERIALS  .....................................................................................................
MOUNTING IN FLOOR  .................................................................................................................
BLOCKING GATE  .........................................................................................................................
BLOCKING GATE - REVERSIBLE  ................................................................................................
TERMS OF SALES AND DELIVERY  ............................................................................................

4
6
6
6
8
11
11
14
14
14
16
18
18
18
19
19
21
24
24
25
26
28
31
35
35
39
39
41
42
43
45
45
45
46
46
48
49
50
52
54



Funki Flex 850

7910401

BOARD PROFILE 35X850 FLAT/FLAT SPEC. LENGTH 

Ask for price

8535401

BOARD PROFILE 35X850 FLAT/FLAT SPEC. LENGTH 6+

Ask for price

8535856

BOARD PROFILE 35X850 FLAT/FLAT 6 METER

269,00€

7910357

POST PROFILE PVC SPEC LENGTH

Ask for price

2900357

POST PROFILE PVC 6 METER

65,50€

7910358

U-PROFILE PVC SPEC LENGTH

Ask for price

2900358

U-PROFILE PVC 6 METER

37,00€

7910359

HATPROFILE PVC SPEC LENGTH

Ask for price

2900359

HATPROFILE PVC 6 METER

71,00€

7910360

Y-PROFILE PVC SPEC LENGTH

Ask for price

2900360

Y-PROFILE PVC 6 METER

56,00€

7910361

H-PROFILE PVC SPEC LENGTH

Ask for price

2900361

H-PROFILE PVC 6 METER

98,00€

4



4100311

UPROFILE 850

7,50€

4100314

H-PROFILE 850 INCL. CONNECTING SCREW

12,50€

4100315

DOUBLE UPROFIL ANGEL 850 INCL. CONNECTING SCREWS

14,50€

4100312

HUT PROFILE 850

9,00€

4100313

WALL MOUNTING LEFT AND RIGHT

12,50€

4150612

STAINLESS STEEL FOUNDATION PLATE RIGHT FOR FUNKI FLEX

21,50€

4150613

STAINLESS STEEL FOUNDATION PLATE LEFT FOR FUNKI FLEX

21,50€

4900700

SUPPORT FOUNDATION PLATE

6,50€

39406050

CONCRETE SCREW 6,5 X 50 STAINLESS STEEL

1,00€

23900078

SIKAFLEX SEALING COMPOUND 600ML FOR 30 METER

23,50€

23900112

PEVICOL GLUE 0,5 KG

ACCESSORIES FOR FEEDING PIPES

33,00€

4900128

BOLTKIT FOR WALL

2,50€

4900129

BOLTKIT FOR WASHING WALL AND FRONT PARTITION

4,00€

4900130

BOLT KIT UPROFILE AGAINST FEEDER

4,00€

5



4900800

HINGER FOR FRONT PART PVC

20,00€

4900801

HINGER FOR HATPROFILE

10,50€

4900850

HINGER FOR FRONT PART STAINLESS STEEL

37,50€

4900851

HINGER FOR HAT PROFILE STAINLESS

31,00€

4900591

MOUNTING KIT FOR WALL MOUNTING

13,00€

Grill for Funki Flex 850

4450876

STAINLESS STEEL CONTACT GRILLE H850 L200-1540

4450876 STANDARD LENGTHS: 1040/1260/1540 MM

Ask for price

Funki Flex 850 for gate fullpen

4100317

GATE KIT IN FULL PEN SIZE SS 850

62,00€

4100307

GATE KIT FOR FULLPEN PVC

33,50€

Funki Flex 850 accessories

30001

PLUG PANEL TOP

2,00€

30043

PLUG PANEL SIDE 19,2 MM TOP

2,00€

30013

PLUG PANEL BOTTOM 50 CM/75 CMBOARDPROFILE

2,00€

550306

FITTINGS ANGLE SHORT, 36X36X65

4,00€

6



4950955

FLOOR ANGLE 133X44X39 MM A2

3,00€

4110163

HANDLE FOR GATE VERSION II, RIGHT

14,00€

4110164

HANDLE FOR GATE VERSION II, LEFT

14,00€

8500152

GATE HINGE FOR POST, VERSION II

3,00€

8500153

LOWER HINGE FOR GATE, VERSION II

7,50€

4910900

HANDLE STAINLESS STEEL RIGHT

26,00€

4910889

HANDLE STAINLESS STEEL LEFT

26,00€

4950884

LOWER HINGER FOR GATE STAINLESS STEEL RIGHT

9,50€

4950887

LOWER HINGER FOR GATE STAINLESS STEEL LEFT

9,50€

39906025

SELF-DRILLING SCREW ST 6.3X25 MM BZP DIN 7504P

COUNTERSUNK HEAD CROSS RECESS H FULLY THREADED

0,50€

39106020

CONNECTION SCREW M6X20 STAINLESS TORX 30

0,50€

39106030

CONNECTION SCREW M6X30 STAINLESS TORX 30

0,50€

39106040

CONNECTION SCREW M6X40 STAINLESS STEEL

0,50€

39206037

SPLICING SLEEVE M6X37 STAINLESS TORX 30

1,00€

7



36308075

MUSHROOMHEADED BOLT M8X75 A2 DIN 603

ROUND HEAD SQUARE NECK BOLT FULLY THREADED

1,50€

36308080

MUSHROOMHEADED BOLT M8X80 A2 DIN 603

ROUND HEAD SQUARE NECK BOLT PARTIALLY THREADED

1,00€

36308110

MUSHROOMHEADED BOLT M8X110 A2 DIN 603

ROUND HEAD SQUARE NECK BOLT PARTIALLY THREADED

1,50€

30310016

SET SCREW M10X16 A2 DIN 933

HEXAGON FULLY THREADED

0,50€

32308075

MACHINE BOLT M8X75 A2 DIN 931

HEXAGON PARTIALLY THREADED

1,00€

33900029

LOCK NUT M10 A2 DIN 985 WAXED

PREVAILING TORQUE HEX NUT WITH POLYAMIDE INSERT, LOW TYPE

0,50€

33508013

NUT M8 A2 DIN 934 WAXED

HEX NUT

0,50€

33908001

LOCK NUT M8 A2 DIN 985 WAXED

PREVAILING TORQUE HEX NUT WITH POLYAMIDE INSERT, LOW TYPE

0,50€

35900085

WASHER Ø10.5X30X2.5 MM A2 DIN 9021 
FLAT WASHERS WITHOUT CHAMFER FOR THREAD M10

0,50€

35600058

WASHER Ø8.4X24X2 MM A2 DIN 9021
FLAT WASHERS WITHOUT CHAMFER FOR THREAD M8

0,50€

Clean-O-Flex 850

4100500

H-PROFILE 1005 MM INCL. CONNECTING SCREW

19,00€

4100657

U-PROFILE 1005 MM INCL. CONNECTING SCREW

9,00€

7910099

BOARD PROFILE 35X250 MM SPEC. LENGTH

Ask for price

8



30100

BOARD PROFILE 35X250 MM LENGTH 6 METER

80,00€

7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

4210539

SIDE H85 BOARD PROFILE/3 BARS POST/UPROFILE

Ask for price

4210540

SIDE H85 BOARD PROFILE/3 BAR UPROFILE/UPROFILE

Ask for price

4210541

SIDE H85 BOARD PROFILE/1 BAR POST/UPROFILE

Ask for price

4210542

SIDE H85 BOARD PROFILE/1 BAR UPROFILE/UPROFILE

Ask for price

38520

MOUNT KIT FOR U-POST AGAINST WALL

8,50€

38530

MOUNTING KIT FOR UPOST DOUBLEAGAINST BOARDPROFILE

16,00€

38525

MOUNT KIT F/U-POST AGAINST GRILLE

10,50€

38522

BRACKET FOR MOUNTING 2 SIDE IN EXTENSION OF EACH OTHER

4,50€

38524

MOUNT KIT FOR U-POST AGAINST FEEDERS

18,50€

4900803

LOOSE FOUNDATION SET LEFT ANDRIGHT FOR BOARDPROFILE

29,00€

4900331

SUPPORT FOR BOARDPROFILE AND BARS, INCL SCREWS

8,00€

9



38928

STABILISATION POST BOARDPROFILE/2 BARS H75 EX. BOLT FOR FLOOR

73,00€

4200545

STABILISATION POST BOARD PROFILE/3 BARS H85 EX. BOLT FOR FLOOR

65,50€

4900806

SUPPORT FOUNDATION FOR CONCRETE ON BOARDPROFILE

16,00€

4900802

SUPPORT FOUNDATION FOR SLATS ON BOARDPROFILE

21,00€

38527

MOUNT KIT F/U-POST AGAINST FRONT PART BOARDPROFILE/BARS

12,00€

38528

MOUNT KIT F/GRILLE H75-100 AGAINST FRONT PART BOARDPROFILE/BARS

4,50€

38526

MOUNTING KIT F/UPOST AGAINST FRONT PART BOARDPROFILE

9,50€

Clean-O-Flex 850 Unassembled

112407

33.7 X 2.60 PIPE GALVANIZED LENGTH 6 METER

63,00€

7910102

BOARD PROFILE 35X500 MM SPEC. LENGTH

Ask for price

30103

BOARD PROFILE 35X500 MM LENGTH 6 METER

164,00€

7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

4210539U

KIT FOR SIDE H85 BOARD PROFILE/3 BARS POST/UPROFILE

82,50€

10



4210540U

KIT FOR SIDE H85 BOARD PROFILE/3 BARS UPROFILE/UPROFILE

49,50€

4210541U

KIT FOR SIDE H85 BOARD PROFILE/1 BAR POST/UPROFILE

82,50€

4210542U

KIT FOR SIDE H85 BOARD PROFILE/1 BAR UPROFILE/UPROFILE

49,50€

Grill for Clean-O-Flex 850

4450872

STAINLESS STEEL CONTACT GRILLE H850 L200-1500

4450872 STANDARD LENGTHS: 1000/1220/1500 MM

Ask for price

4450876

STAINLESS STEEL CONTACT GRILLE H850 L200-1540

4450876 STANDARD LENGTHS: 1040/1260/1540 MM

Ask for price

Clean-O-Flex 850 for Pinlock gate

4210240

FRONTPART H85 BOARDPROFILE/1 BAR UPROFILE/DROP LATCH POST FOR PIN LOCK

Ask for price

4210241

FRONTPART H85 BOARDPROFILE/1 BAR HINGER POST/DROP LATCH POST FOR PIN 
LOCK

Ask for price

4210242

FRONTPART H85 BOARDPROFILE/1 BAR HINGER POST/UPROFILE FOR PIN LOCK

Ask for price

4210243

FRONTPART H85 BOARDPROFILE/1 BAR UPROFILE/DROP LATCH UPROFILE FOR PIN 
LOCK

Ask for price

4210244

FRONTPART H85 BOARDPROFILE/1 BAR HINGER UPROFILE/UPROFILE FOR PIN LOCK

Ask for price

4210245

FRONTPART H85 BOARDPROFILE/1 BARS HINGER UPROFILE/DROP LATCH UPROFILE 
FOR PIN LOCK

Ask for price

4210230

FRONTPART H85 BOARDPROFILE/3 BARS UPROFILE/DROP LATCH POST FOR PIN 
LOCK

Ask for price

11



4210231

FRONTPART H85 BOARDPROFILE/3 BARS HINGER POST/DROP LATCH POST FOR PIN 
LOCK

Ask for price

4210232

FRONTPART H85 BOARDPROFILE/3 BARS HINGER POST/UPROFILE FOR PIN LOCK

Ask for price

4210233

FRONTPART H85 BOARDPROFILE/3 BARS UPROFILE/DROP LATCH UPROFILE FOR PIN 
LOCK

Ask for price

4210234

FRONTPART H85 BOARDPROFILE/3 BARS HINGER UPROFILE/UPROFILE FOR PIN 
LOCK

Ask for price

4210235

FRONTPART H85 BOARDPROFILE/3 BARS HINGER UPROFILE/DROP LATCH UPROFILE 
FOR PIN LOCK

Ask for price

38519

MOUNTING KIT FOR FRONT PART AGAINST WALL

15,50€

4000904

KIT FOR GATE WITH PIN BOLT

13,50€

4800010

10 PCS. STAINLESS STEEL BUTTON HEAD SCREWS 10 X 70 AND WALL PLUG

ACCESSORIES FOR FLOOR

20,50€

4210223

GATE H85 BOARDPROFILE/1 BAR WITH PIN LOCK, 300-1400 MM

Ask for price

4210203

GATE H85 BOARDPROFILE/3 BARS WITH PIN LOCK, 300-1400 MM

Ask for price

Clean-O-Flex 850 for Pinlock gate Unassembled

112407

33.7 X 2.60 PIPE GALVANIZED LENGTH 6 METER

63,00€

7910102

BOARD PROFILE 35X500 MM SPEC. LENGTH

Ask for price

30103

BOARD PROFILE 35X500 MM LENGTH 6 METER

164,00€

12



7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

4210230U

KIT FOR FRONTPART H85 BOARDPROFILE/3 BARS UPROFILE/DROP LATCH POST FOR 
PIN LOCK

89,50€

4210231U

KIT FOR FRONTPART H85 BOARDPROFILE/3 BARS HINGER POST/DROP LATCH POST 
FOR PIN LOCK

133,00€

4210232U

KIT FOR FRONTPART H85 BOARDPROFILE/3 BARS HINGER POST/UPROFIE FOR PIN 
LOCK

94,00€

4210233U

KIT FOR FRONTPART H85 BOARDPROFILE/DROP LATCH UPROFILE FOR PIN LOCK

57,50€

4210235U

KIT FOR FRONTPART H85 BOARDPROFILE/3 BARS HINGER UPROFILE/DROP LATCH 
UPROFILE FOR PIN LOCK

69,50€

4210240U

KIT FOR FRONTPART H85 BOARDPROFILE/1 BAR UPROFILE/DROP LATCH POST FOR 
PIN LOCK

87,50€

4210241U

KIT FOR FRONTPART H85 BOARDPROFILE/1 BAR HINGER POST/DROP LATCH POST 
FOR PIN LOCK

131,50€

4210242U

KIT FOR FRONTPART H85 BOARDPROFILE/1 BAR HINGER POST/UPROFILE FOR PIN 
LOCK

92,00€

4210243U

KIT FOR FRONTPART H85 BOARDPROFILE/1 BAR UPROFILE/DROP LATCH UPROFILE 
FOR PIN LOCK

56,00€

4210244U

KIT FOR FRONTPART H85 BOARDPROFILE/1 BAR HINGER UPROFILE/UPROFILE FOR 
PIN LOCK

60,00€

13



4210245U

KIT FOR FRONTPART H85 BOARDPROFILE/1 BARS HINGER UPROFILE/DROP LATCH 
UPROFILE FOR PIN LOCK

67,50€

Grill for Clean-O-Flex 850 for gate fullpen

4210376

STAINLESS STEEL CONTACT GRILLE H850 L200-1576

Ask for price

Clean-O-Flex 850 for gate fullpen

4210308

SIDE H850 BOARDPROFILE/1 BAR POST/UPROFILE

Ask for price

4210309

SIDE H850 BOARDPROFILE/3 BARS POST/UPROFILE

Ask for price

4210304

FRONT PART H850 BOARDPROFILE/1 BAR FOR GATE FULL PEN

Ask for price

4210305

FRONT PART H850 BOARDPROFILE/3 BARS FOR GATE FULL PEN

Ask for price

4200302

WALL BRACKET RIGHT INCL. WALL SCREWS H850

78,50€

4200303

WALL BRACKET LEFT INCL. WALL SCREWS H850

78,50€

4210306

GATE FULL PEN H850 BOARDPROFILE/1 BAR

Ask for price

4210307

GATE FULL PEN H850 BOARDPROFILE/3 BARS

Ask for price

Clean-O-Flex 850 for Liquid feeding wall

4210537

LIQUIDFEED WALL MIDDEL PIECE H85 BOARDPROFILE

Ask for price

4200537

SCREWS AND PLUG FOR 4210537 LIQUIDFEED WALL

10,00€

14



4210538

LIQUIDFEED WALL FOR 1 DOWNPIPE H85 BOARDPROFILE WITHOUT DOWNPIPE

Ask for price

4200538

SCREWS/PLUG/UPROFILE FOR 4210538 LIQUIDFEED WALL

26,50€

4210535

LIQUIDFEEDING WALL H85 BOARDPROFILE WITHOUT DOWNPIPE MAX. 6 METER

Ask for price

4210536

LIQUIDFEED WALL H85 FOR 1+2 DOWNPIPE UPROFILE/DOWNPIPE

Ask for price

39234

LIQUID FEEDING TROUGH FINISHER DOUBLE

Ask for price

1950311

LIQUID FEED TROUGH FINISHER DOUBLE WITH DRAIN

Ask for price

31000

SUPPORT FOOT SET, DOUBLE TROUGH, INTEGRATED DOWNPIPE, FINISHER

168,50€

30053

ADAPTER SUPPORT LEG DIRECTLY ON BOARDPROFILE

2,00€

8530052

ADAPTER FOR SUPORT 50 MM WALL

1,50€

39211

LIQUID FEEDING TROUGH FINISHER SINGLE

Ask for price

1950312

LIQUID FEED TROUGH FINISHER SINGLE WITH DRAIN, LEFT

Ask for price

1950313

LIQUID FEED TROUGH FINISHER SINGLE WITH DRAIN, RIGHT

Ask for price

31001

FOOT BRACKET FOR EXTRA FOOT OR FOR SINGLE TROUGH, FINISHER

19,50€

31050

WALLBRACKET F/SINGEL TROUGH AGAINST WALL

4,50€

15



31051

WALLBRACKET FOR SINGEL TROUGHSINGEL AGAINST BOARDPROFILE

4,00€

31052

WALLBRACKET FOR SINGEL TROUGHDOUBLE AGAINST BOARDPROFILE

5,50€

Funki Fiber 875

4460451

WASHING WALL H87 PLATE

Ask for price

4410448

ASSEMBLER KIT FOR WASHING WALL H87

33,00€

4460475

SIDE H87 PLATE

Ask for price

4400433

ASSEMBLY POST H87

26,50€

4400440

POST KIT H87 COMBI PLATE/2 BARS

31,50€

4400442

POST H87 PLATE FOR FEEDERS

38,00€

4400438

POST KIT H87 PLATE/2 BARS

35,50€

4400445

POST H87 PLATE FOR 2 BARS/FEEDERS

42,00€

38524

MOUNT KIT FOR U-POST AGAINST FEEDERS

18,50€

4510648

SIDE H64,2 PLATE LENGTH 4100-6000 MM EX. ASSEMBLY KIT 4500645

REMEMBER ASSEMBLY KIT 4500645

Ask for price

4560647

SIDE H64,2 PLATE MAX. LENGTH 4100 MM

Ask for price

16



4500645

ASSEMBLY KIT H64,2 PLATE

18,50€

4410410

2 BARS 1" GALVANIZED PRICE PER METER

Ask for price

4500652

2 ROUND CAP BLACK (1" PIPE)

1,00€

38943

1 PCS. STIFFENING BRACKET SETFOR 2 BARS ON PLATE

10,50€

4400482

2 PCS STIFFENING BRACKET SET FOR 2 BARS ON PLATE

21,00€

4400483

3 PCS STIFFENING BRACKET SET FOR 2 BARS ON PLATE

31,50€

4400484

4 PCS STIFFENING BRACKET SET FOR 2 BARS ON PLATE

42,00€

4400485

5 PCS STIFFENING BRACKET SET FOR 2 BARS ON  PLATE

52,50€

4500452

MOUNTING KIT FOR GRILL/FRONT PART

1,50€

38534

MOUNTING KIT FOR GRILLE COMP-O-FLEX AGAINST FRONT PART

10,25€

38552

MOUNTING KIT PLATE/2 BARS WITHOUT UPROFILE AGAINST FRONT PAR

20,50€

4500661

MOUNTING KIT FOR PARTITION AGAINST WALL

11,00€

4500662

MOUNTING KIT FOR PARTITION AGAINST FRONT PART/WASHING WALL

14,00€

4500655

LOOSE FOUNDATION SET LEFT ANDRIGHT FOR PLATE

29,00€

17



4901802

SUPPORT FOUNDATION FOR SLATS FIBER

16,00€

4901806

SUPPORT FOUNDATION FOR CONCRETE FIBER

11,50€

8460700

PLATIC PLATE 2 MM FOR SUPORT FOR FOUNDATION

8,00€

Grill for Funki Fiber 875

4450872

STAINLESS STEEL CONTACT GRILLE H850 L200-1500

4450872 STANDARD LENGTHS: 1000/1220/1500 MM

Ask for price

4450876

STAINLESS STEEL CONTACT GRILLE H850 L200-1540

4450876 STANDARD LENGTHS: 1040/1260/1540 MM

Ask for price

Funki Fiber 875 for Pinlock gate Stainless steel

4410501

PLATE FRONT PART HINGE/RECEIVER H:87,5 FOR 4410500

Ask for price

4410502

PLATE FRONT PART HINGE/HINGE H87,5 FOR 4410500

Ask for price

4410503

PLATE FRONT PART RECEIVER/RECEIVER H87,5 FOR 4410500

Ask for price

4410504

PLATE FRONT PART RECEIVER/WALL H87,5 FOR 4410500

Ask for price

4410506

PLATE FRONT PART HINGE/WALL H87,5 FOR 4410500

Ask for price

4410500

PLATE GATE H87,5 LENGTH 120 CM

237,50€

4410510

GATE H87 PLATE LENGTH 60-130 CM

Ask for price

Funki Fiber 875 for Pinlock gate

18



4410401

FRONT PART H87,5 PLATE/2 BARS HINGE/RECEIVER

Ask for price

4410402

FRONT PART H87,5 PLATE/2 BARS HINGE/HINGE

Ask for price

4410403

FRONT PART H87,5 PLATE/2 BARS RECEIVER/RECEIVER

Ask for price

4410404

FRONT PART H87,5 PLATE/2 BARS WALL/RECEIVER

Ask for price

4410406

FRONT PART H87 PLATE AGAINST WALL/HINGE 300 MM

92,00€

4410407

FRONT PART H87 PLATE AGAINST WALL/RECEIVER MAX. 400 MM

Ask for price

4410420

GATE H87,5 PLATE/2 BARS 120 CM WITH PIN LOCK

328,00€

4410430

GATE H87,5 PLATE/2 BARS 130 CM WITH PIN LOCK

339,00€

4410435

GATE H87,5 PLATE/2 BARS 60-130 CM WITH PIN LOCK

Ask for price

Funki Fiber 875 for gate fullpen

4460471

FRONT PART H87 PLATE GATE FULL PEN FOR 2 HINGE

Ask for price

4460473

FRONT PART H87 PLATE GATE FULL PEN FOR 4 HINGE

Ask for price

4500644

MOUNTING KIT FOR FRONT PART FOR GATE FULL PEN, INCL FOUNDATIN PLATE

49,50€

4410465

GATE FULL PEN H87,5 PLATE/2 BARS 90-250 CM

Ask for price

Funki Fiber 875 for Liquid feeding wall

19



4410461

LIQUIDFEEDING WALL H87 PLATE/2 BARS AGAINST WAND, DOWNPIPE

Ask for price

4410462

LIQUID FEEDING WALL H87 PLATE/2 BARS AGAINST FRONT, DOWNPIPE

Ask for price

4410463

LIQUID FEED WALL H87 PLATE/2 BARS, CENTER PIECE

Ask for price

4400464

SCREWS/PLUG/UPROFILE FOR 4410463  LIQUIDFEED WALL

22,50€

4560639

PLATE H57 FOR LIQUID FEEDING WALL WITHOUT DOWNPIPE MAX. LENGTH 4100 MM

Ask for price

4510640

PLATE H57 FOR LIQUIDFEEDING WALL WITHOUT DOWNPIPE, LENGHT 4100-6000 MM 
EX. ASSEMBLY KIT 4500642

REMEMBER ASSEMBLY KIT 4500642

Ask for price

4500642

ASSEMBLY KIT H57 PLATE FOR LIQUIDFEEDING WALL WITHOUT DOWNPIPE

17,50€

39234

LIQUID FEEDING TROUGH FINISHER DOUBLE

Ask for price

1950311

LIQUID FEED TROUGH FINISHER DOUBLE WITH DRAIN

Ask for price

4500663

SUPPORT FOOT SET, DOUBLE TROUGH, PLATE, FINISHER

190,00€

39211

LIQUID FEEDING TROUGH FINISHER SINGLE

Ask for price

1950312

LIQUID FEED TROUGH FINISHER SINGLE WITH DRAIN, LEFT

Ask for price

1950313

LIQUID FEED TROUGH FINISHER SINGLE WITH DRAIN, RIGHT

Ask for price

31001

FOOT BRACKET FOR EXTRA FOOT OR FOR SINGLE TROUGH, FINISHER

19,50€

20



31050

WALLBRACKET F/SINGEL TROUGH AGAINST WALL

4,50€

4500664

WALLBRACKET FOR SINGEL TROUGH AGAINST PLATE

3,00€

4500665

WALLBRACKET FOR SINGEL TROUGH DOUBLE AGAINST PLATE

5,00€

Funki Flex 1000 Ver. 2

7910350

BOARD PROFILE 70X35 OVAL SPEC. LENGTH

Ask for price

8535076

BOARD PROFILE 35X70 OVAL 6 METER

52,50€

7910099

BOARD PROFILE 35X250 MM SPEC. LENGTH

Ask for price

30100

BOARD PROFILE 35X250 MM LENGTH 6 METER

80,00€

7910102

BOARD PROFILE 35X500 MM SPEC. LENGTH

Ask for price

30103

BOARD PROFILE 35X500 MM LENGTH 6 METER

164,00€

7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

7910357

POST PROFILE PVC SPEC LENGTH

Ask for price

2900357

POST PROFILE PVC 6 METER

65,50€

21



7910358

U-PROFILE PVC SPEC LENGTH

Ask for price

2900358

U-PROFILE PVC 6 METER

37,00€

7910359

HATPROFILE PVC SPEC LENGTH

Ask for price

2900359

HATPROFILE PVC 6 METER

71,00€

7910360

Y-PROFILE PVC SPEC LENGTH

Ask for price

2900360

Y-PROFILE PVC 6 METER

56,00€

7910361

H-PROFILE PVC SPEC LENGTH

Ask for price

2900361

H-PROFILE PVC 6 METER

98,00€

7910362

PROFILE 35X35 PVC SPEC LENGTH

Ask for price

2900362

PROFILE 35X35 PVC 6 METER

41,00€

4100657

U-PROFILE 1005 MM INCL. CONNECTING SCREW

9,00€

4100304

POST PROFILE FOR FOUNDATION PLATE

25,00€

4100658

HAT PROFILE 1005 MM

10,50€

4100500

H-PROFILE 1005 MM INCL. CONNECTING SCREW

19,00€

22



4100656

UPROFILE 900 MM INCL. CONNECTING SCREW

8,00€

4100489

DOUBLE UPROFIL ANGEL 1005 MM INCL. CONNECTING SCREWS

18,00€

4100659

WALL MOUNTING LEFT AND RIGHT

14,50€

36254

STAINLESS STEEL DORN FOR LIQUID WALL MOUNTING KIT

29,00€

4150612

STAINLESS STEEL FOUNDATION PLATE RIGHT FOR FUNKI FLEX

21,50€

4150613

STAINLESS STEEL FOUNDATION PLATE LEFT FOR FUNKI FLEX

21,50€

4900508

STABILIZATOR KIT

46,50€

4900700

SUPPORT FOUNDATION PLATE

6,50€

39406050

CONCRETE SCREW 6,5 X 50 STAINLESS STEEL

1,00€

23900078

SIKAFLEX SEALING COMPOUND 600ML FOR 30 METER

23,50€

23900112

PEVICOL GLUE 0,5 KG

ACCESSORIES FOR FEEDING PIPES

33,00€

4900128

BOLTKIT FOR WALL

2,50€

4900129

BOLTKIT FOR WASHING WALL AND FRONT PARTITION

4,00€

4900130

BOLT KIT UPROFILE AGAINST FEEDER

4,00€

23



4900800

HINGER FOR FRONT PART PVC

20,00€

4900801

HINGER FOR HATPROFILE

10,50€

4900850

HINGER FOR FRONT PART STAINLESS STEEL

37,50€

4900851

HINGER FOR HAT PROFILE STAINLESS

31,00€

4900591

MOUNTING KIT FOR WALL MOUNTING

13,00€

Grill for Funki Flex 1000 Ver. 2

4100872

STAINLESS STEEL CONTACT GRILLE H1000 L100-1500 WITH SCREW

4100872 STANDARD LENGTHS: 1000/1220/1500 MM

Ask for price

4110872

STAINLESS STEEL CONTACT GRILLE H1000 L200-1539 WITH FOUNDATION PLATE

4110872 STANDARD LENGTHS: 1039/1259/1539 MM

Ask for price

4020539

GRILLE OVER SLATS, L950 MM, GALVANIZED

168,50€

4020536

GRILLE OVER SLATS, L1150 MM, GALVANIZED

191,50€

Funki Flex 1000 for gate fullpen

4100040

FRONT PART KIT

24,50€

4110041

FRONT PARTITION FULL WIDTH H100

Ask for price

4110171

GATE H100 VARIABLE PLASTIC HANDLE

Ask for price

4100515

GATE KIT IN FULL PEN SIZE PVC

62,50€

24



4110271

GATE H100 VARIABLE OPENING STAINLESS STEEL HANDLE

Ask for price

4100615

GATE KIT IN FULL PEN SIZE STAINLESS STEEL

91,00€

Funki Mix 1000

4210621

FRONTPART H100 BOARDPROFILE/OVAL BARS HINGER UPROFILE/DROP LATCH 
UPROFILE FOR PIN LOCK

Ask for price

4210622

FRONTPART H100 BOARDPROFILE/OVAL BARS HINGER UPROFILE/UPROFILE FOR 
PIN LOCK

Ask for price

4210623

FRONTPART H100 BOARDPROFILE/OVAL BARS UPROFILE/DROP LATCH UPROILE 
FOR PIN LOCK

Ask for price

4210624

FRONTPART H100 BOARDPROFILE/OVAL BARS HINGER POST/UPROFILE FOR PIN 
LOCK

Ask for price

4210625

FRONTPART H100 BOARDPROFILE/OVAL BARS HINGER POST/DROP LATCH POST 
FOR PIN LOCK

Ask for price

4210626

FRONTPART H100 BOARDPROFILE/OVAL BARS UPROFILE/DROP LATCH POST FOR 
PIN LOCK

Ask for price

4210631

GATE H100 BOARDPROFILE/1 OVAL BAR WITH PIN LOCK

Ask for price

7910350

BOARD PROFILE 70X35 OVAL SPEC. LENGTH

Ask for price

8535076

BOARD PROFILE 35X70 OVAL 6 METER

52,50€

7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

25



30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

4210621U

KIT FOR FRONTPART H100 BOARDPROLE/OVAL BARS HINGER UPROFILE/DROP 
LATCH UPROFILE FOR PIN LOCK

77,50€

4210622U

KIT FOR FRONTPART H100 BOARDPROFILE/OVAL BARS HINGER UPROFILE/UPROFILE 
FOR PIN LOCK

70,00€

4210623U

KIT FOR FRONTPART H100 BOARDPROFILE/OVAL BARS UPROFILE/DROP LATCH 
UPROILE FOR PIN LOCK

66,00€

4210624U

KIT FOR FRONTPART H100 BOARDPROFILE/OVAL BARS HINGER POST/UPROFILE 
FOR PIN LOCK

110,50€

4210625U

KIT FOR FRONTPART H100 BOARDPROFILE/OVAL BARS HINGER POST/DROP LATCH 
POST FOR PIN LOCK

158,00€

4210626U

KIT FOR FRONTPART H100 BOARDPROFILE/OVAL BARS UPROFILE/DROPLATCH POST 
FOR PIN LOCK

106,00€

Funki Flex 1000 accessories

8500254

INSERT FOR SINGLE 70X35 MM BOARED

2,00€

30001

PLUG PANEL TOP

2,00€

30043

PLUG PANEL SIDE 19,2 MM TOP

2,00€

30013

PLUG PANEL BOTTOM 50 CM/75 CMBOARDPROFILE

2,00€

550306

FITTINGS ANGLE SHORT, 36X36X65

4,00€

26



4950955

FLOOR ANGLE 133X44X39 MM A2

3,00€

4110163

HANDLE FOR GATE VERSION II, RIGHT

14,00€

4110164

HANDLE FOR GATE VERSION II, LEFT

14,00€

8500152

GATE HINGE FOR POST, VERSION II

3,00€

8500153

LOWER HINGE FOR GATE, VERSION II

7,50€

4910900

HANDLE STAINLESS STEEL RIGHT

26,00€

4910889

HANDLE STAINLESS STEEL LEFT

26,00€

4950884

LOWER HINGER FOR GATE STAINLESS STEEL RIGHT

9,50€

4950887

LOWER HINGER FOR GATE STAINLESS STEEL LEFT

9,50€

39906025

SELF-DRILLING SCREW ST 6.3X25 MM BZP DIN 7504P

COUNTERSUNK HEAD CROSS RECESS H FULLY THREADED

0,50€

39106020

CONNECTION SCREW M6X20 STAINLESS TORX 30

0,50€

39106030

CONNECTION SCREW M6X30 STAINLESS TORX 30

0,50€

39106040

CONNECTION SCREW M6X40 STAINLESS STEEL

0,50€

39206037

SPLICING SLEEVE M6X37 STAINLESS TORX 30

1,00€

27



36308075

MUSHROOMHEADED BOLT M8X75 A2 DIN 603

ROUND HEAD SQUARE NECK BOLT FULLY THREADED

1,50€

36308080

MUSHROOMHEADED BOLT M8X80 A2 DIN 603

ROUND HEAD SQUARE NECK BOLT PARTIALLY THREADED

1,00€

36308110

MUSHROOMHEADED BOLT M8X110 A2 DIN 603

ROUND HEAD SQUARE NECK BOLT PARTIALLY THREADED

1,50€

30310016

SET SCREW M10X16 A2 DIN 933

HEXAGON FULLY THREADED

0,50€

32308075

MACHINE BOLT M8X75 A2 DIN 931

HEXAGON PARTIALLY THREADED

1,00€

33900029

LOCK NUT M10 A2 DIN 985 WAXED

PREVAILING TORQUE HEX NUT WITH POLYAMIDE INSERT, LOW TYPE

0,50€

33508013

NUT M8 A2 DIN 934 WAXED

HEX NUT

0,50€

33908001

LOCK NUT M8 A2 DIN 985 WAXED

PREVAILING TORQUE HEX NUT WITH POLYAMIDE INSERT, LOW TYPE

0,50€

35900085

WASHER Ø10.5X30X2.5 MM A2 DIN 9021 
FLAT WASHERS WITHOUT CHAMFER FOR THREAD M10

0,50€

35600058

WASHER Ø8.4X24X2 MM A2 DIN 9021
FLAT WASHERS WITHOUT CHAMFER FOR THREAD M8

0,50€

Clean-O-Flex 1000

4100500

H-PROFILE 1005 MM INCL. CONNECTING SCREW

19,00€

4100657

U-PROFILE 1005 MM INCL. CONNECTING SCREW

9,00€

7910099

BOARD PROFILE 35X250 MM SPEC. LENGTH

Ask for price

28



30100

BOARD PROFILE 35X250 MM LENGTH 6 METER

80,00€

7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

37300

SIDE H100 BOARDPROFILE,  UPROFILE/UPROFILE

Ask for price

36400

SIDE H100 BOARDPROFILE/2 BARSUPROFILE/UPROFILE

Ask for price

36407

SIDE H100 BOARDPROFILE/5 BARSUPROFILE/UPROFILE

Ask for price

36460

SIDE H100 COMBI BOARDPROFILE/2 BARS UPROFILE/UPROFILE

Ask for price

4210502

SIDE H100 BOARDPROFILE POST/UPOFILE

Ask for price

4210500

SIDE H100 BOARDPROFILE/2 BARSPOST/UPROFILE

Ask for price

4210501

SIDE H100 BOARDPROFILE/5 BARSPOST/UPROFILE

Ask for price

4210503

SIDE H100 COMBI BOARDPROFILE/2 BARS POST/UPROFILE

Ask for price

38520

MOUNT KIT FOR U-POST AGAINST WALL

8,50€

38530

MOUNTING KIT FOR UPOST DOUBLEAGAINST BOARDPROFILE

16,00€

38525

MOUNT KIT F/U-POST AGAINST GRILLE

10,50€

29



38522

BRACKET FOR MOUNTING 2 SIDE IN EXTENSION OF EACH OTHER

4,50€

38524

MOUNT KIT FOR U-POST AGAINST FEEDERS

18,50€

4900803

LOOSE FOUNDATION SET LEFT ANDRIGHT FOR BOARDPROFILE

29,00€

4900331

SUPPORT FOR BOARDPROFILE AND BARS, INCL SCREWS

8,00€

38927

STABILISATION POST BOARDPROFILE/2 BARS H100 EX. BOLT FOR FLOOR

87,00€

38918

STABILISATION POST FOR BOARDPROFILE/5 BARS H100 EXCL. BOLT FLOOR

88,50€

38923

STABILISATION POST BOARDPROFILE H75/H100 EX. BOLT FOR FLOOR

66,50€

4900806

SUPPORT FOUNDATION FOR CONCRETE ON BOARDPROFILE

16,00€

4900802

SUPPORT FOUNDATION FOR SLATS ON BOARDPROFILE

21,00€

38527

MOUNT KIT F/U-POST AGAINST FRONT PART BOARDPROFILE/BARS

12,00€

38528

MOUNT KIT F/GRILLE H75-100 AGAINST FRONT PART BOARDPROFILE/BARS

4,50€

38526

MOUNTING KIT F/UPOST AGAINST FRONT PART BOARDPROFILE

9,50€

Clean-O-Flex 1000 Unassembled

112407

33.7 X 2.60 PIPE GALVANIZED LENGTH 6 METER

63,00€

30



7910099

BOARD PROFILE 35X250 MM SPEC. LENGTH

Ask for price

30100

BOARD PROFILE 35X250 MM LENGTH 6 METER

80,00€

7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

37300U

KIT FOR SIDE H100 BOARDPROFILE UPROFILE/UPROFILE

56,50€

36400U

KIT FOR SIDE H100 BOARDPROFILE/2BARS UPROFILE/UPROFILE

57,50€

36407U

KIT FOR SIDE H100 BOARDPROFILE/5 BARS UPROFILE/UPROFILE

60,00€

36460U

KIT FOR SIDE H100 COMBI BOARDPROFILE/2 BARS UPROFILE/UPROFILE

62,00€

4210502U

KIT FOR SIDE H100 BOARDPROFILE POST/UPROFILE

89,50€

4210500U

KIT FOR SIDE H100 BOARDPROFILE/2 BARS POST/UPROFILE

90,50€

Clean-O-Flex 1000  for Twistlock gate

37901

FRONT PART H100 BOARDPROFILE UPROFILE/RECEIVER UPROFILE FOR TWISTLOCK

Ask for price

36997

FRONT PART H100 BOARDPROFILE/2 BARS UPROFILE/RECEIVER UPROFILE FOR 
TWISTLOCK

Ask for price

36867

FRONT PART H100 BOARDPROFILE/5 BARS PROFILE/RECEIVER UPROFILE FOR 
TWISTLOCK

Ask for price

31



37701

FRONT PART H100 BOARDPROFILE HINGE UPROFILE/RECEIVER UPROFILE FOR 
TWISTLOCK

Ask for price

36798

FRONT PART H100 BOARDPROFILE/2BARS HINGE UPROFILE/RECEIVER UPROFILE 
FOR TWISTLOCK

Ask for price

36856

FRONT PART H100 BOARDPROFILE/5 BARS HINGE UPROFILE/RECEIVER PROFILE 
FOR TWISTLOCK

Ask for price

37801

FRONT PART H100 BOARDPROFILE HINGE UPROFILE/UPROFILE FOR TWISTLOCK

Ask for price

36897

FRONT PART H100 BOARDPROFILE/2 BARS HINGE UPROFILE/UPROFILEFOR 
TWISTLOCK

Ask for price

36864

FRONT PART H100 BOARDPROFILE/5 BARS HINGE UPROFILE/UPROFILEFOR 
TWISTLOCK

Ask for price

4210519

FRONT PART H100 BOARDPROFILE UPROFILE/RECEIVER POST FOR TWISTLOCK

Ask for price

4210515

FRONT PART H100 BOARDPROFILE/2 BARS UPROFILE/RECEIVER POST FOR 
TWISTLOCK

Ask for price

4210509

FRONT PART H100 BOARDPROFILE/5 BARS UPROFILE/RECEIVER POST FOR 
TWISTLOCK

Ask for price

4210517

FRONT PART H100 BOARDPROFILE HINGE POST/RECEIVER POST FOR TWISTLOCK

Ask for price

4210512

FRONT PART H100 BOARDPROFILE/2 HINGE POST/RECEIVER POST FORTWISTLOCK

Ask for price

4210507

FRONT PART H100 BOARDPROFILE/5 HINGE POST/RECEIVER POST FORTWISTLOCK

Ask for price

4210518

FRONT PART H100 BOARDPROFILE HINGE POST/UPROFILE FOR TWISTLOCK

Ask for price

32



4210513

FRONT PART H100 BOARDPROFILE/2 HINGE POST/UPROFILE FOR TWISTLOCK

Ask for price

4210508

FRONT PART H100 BOARDPROFILE/5 HINGE POST/UPROFILE FOR TWISTLOCK

Ask for price

38538

MOUNT KIT W/PINTLE LEFT F/GATE AGAINST WALL

35,50€

38537

MOUNT KIT FOR GATE STOP AGAINST WALL

2,50€

38536

MOUNT KIT F/GATE STOP OPPOSITE GATE

4,50€

38500

GATE H100 BOARDPROFILE WITH TWISTLOCK, 300-1400 MM

Ask for price

38300

GATE H100 BOARDPROFILE/2 BARSWITH TWISTLOCK, 300-1400 MM

Ask for price

38301

GATE H100 BOARDPROFILE/5 BARS WITH TWISTLOCK, 300-1400 MM

Ask for price

Clean-O-Flex 1000  for Twistlock gate Unassembled

112407

33.7 X 2.60 PIPE GALVANIZED LENGTH 6 METER

63,00€

7910099

BOARD PROFILE 35X250 MM SPEC. LENGTH

Ask for price

30100

BOARD PROFILE 35X250 MM LENGTH 6 METER

80,00€

7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

33



37901U

KIT FOR FRONT PART H100 BOARDPROFILE UPROFILE/RECEIVER UPROFILE FOR 
TWISTLOCK

60,50€

36997U

KIT FOR FRONT PART H100 BOARDPROFILE/2 BARS UPROFILE/RECEIVER UPROFILE 
FOR TWISTLOCK

61,50€

36867U

KIT FOR FRONT PART H100 BOARDPROFILE/5 BARS UPROFILE/RECEIVER UPROFILE 
FOR TWISTLOCK

63,50€

37701U

KIT FOR FRONT PART H100 BOARDPROFILE HINGE UPROFILE/RECEIVER UPROFILE 
FOR TWISTLOCK

82,00€

36798U

KIT FOR FRONT PART H100 BOARDPROFILE/2 BARS HINGE UPROFILE/RECEIVER 
UPROFILE FOR TWISTLOCK

83,00€

36856U

KIT FOR FRONT PART H100 BOARDPROFILE/5 BARS HINGE UPROFILE/RECEIVER 
UPROFILE FOR TWISTLOCK

85,00€

37801U

KIT FRONT PART SIDE H100 BOARDPROFILE HINGE UPROFILE/UPROFILE FOR 
TWISTLOCK

78,00€

36897U

KIT FOR FRONT PART H100 BOARDPROFILE/2 BARS HINGE UPROFILE/UPROFILE FOR 
TWISTLOCK

123,50€

36864U

KIT FOR SIDE H100 BOARDPROFILE/5 BARS HINGE UPROFILE/UPROFILE FOR 
TWISTLOCK

81,50€

4210519U

KIT FOR FRONT PART H100 BOARDPROFILE HINGE UPROFILE/RECEIVER POST FOR 
TWISTLOCK

93,50€

4210515U

KIT FOR FRONT PART H100 BOARDPOFILE/2 BARS UPROFILE/RECEIVER POST FOR 
TWISTLOCK

94,50€

4210509U

KIT FOR FRONT PART H100 BOARDPROFILE/5 BARS HINGE POST/RECEIVER POST 
FOR TWISTLOCK

96,50€

34



4210517U

KIT FOR FRONT PART H100 BOARDPROFILE HINGE POST/RECEIVER POST FOR 
TWISTLOCK

147,50€

4210512U

KIT FOR FRONT PART H100 BOARDPROFILE/2 BARS HINGE POST/RECEIVER POST 
FOR TWISTLOCK

149,00€

4210507U

KIT FOR FRONT PART H100 BOARDPROFILE/5 BARS HINGE UPROFILE/RECEIVER 
UPROFILE FOR TWISTLOCK

23,50€

4210518U

KIT FOR FRONT PART H100 BOARDPROFILE HINGE POST/UPROFILE FOR TWISTLOCK

111,00€

4210513U

KIT FOR FRONT PART H100 BOARDPROFILE/2 BARS HINGE POST/UPROFIL FOR 
TWISTLOCK

112,00€

4210508U

KIT FOR FRONT PART H100 BOARDPROFILE/5 BARS HINGE POST/UPROFILE FOR 
TWISTLOCK

114,00€

Grill for Clean-O-Flex 1000

4250876

STAINLESS STEEL CONTACT GRILLE H1000 H200-1540

4250876 STANDARD LENGTHS: 1040/1260/1540 MM

Ask for price

Clean-O-Flex 1000 for Pinlock gate

4210824

FRONTPART H100 BOARDPROFILE UPROFILE/DROP LATCH UPROFILE FOP PIN LOCK

Ask for price

4210604

FRONTPART H100 BOARDPROFILE/2BARS UPROFILE/DROP LATCH UPROFILE FOR 
PIN LOCK

Ask for price

4210724

FRONTPART H100 BOARDPROFILE/5BARS DROP LATCH UPROFILE/UPROFILE FOR 
PIN LOCK

Ask for price

4210822

FRONTPART H100 BOARDPROFILE UPROFIL/DROP LATCH POST FOR PIN LOCK

Ask for price

35



4210602

FRONTPART H100 BOARDPROFILE/2BARS UPROFILE/DROP LATCH POSTFOR PIN 
LOCK

Ask for price

4210722

FRONTPART H100 BOARDPROFILE/5BARS UPROFILE/DROP LATCH POSTFOR PIN 
LOCK

Ask for price

4210825

FRONTPART H100 BOARDPROFILE HINGER UPROFILE/UPROFILE FOR PIN LOCK

Ask for price

4210605

FRONTPART H100 BOARDPROFILE/2BARS HINGER UPROFILE/UPROFILEFOR PIN 
LOCK

Ask for price

4210725

FRONTPART H100 BOARDPROFILE/5BARS HINGER UPROFILE/UPROFILEFOR PIN 
LOCK

Ask for price

4210821

FRONTPART H100 BOARDPROFILE HINGER POST/UPROFILE FOR PIN LOCK

Ask for price

4210601

FRONTPART H100 BOARDPROFILE/2BARS HINGER POST/UPROFILE FORPIN LOCK

Ask for price

4210721

FRONTPART H100 BOARDPROFILE/5BARS HINGER POST/UPROFILE FOR PIN LOCK

Ask for price

4210826

FRONTPART H100 BOARDPROFILE HINGER UPROFILE/DROP LATCH UPROFILE FOR 
PIN LOCK

Ask for price

4210606

FRONTPART H100 BOARDPROFILE/2 BARS HINGER UPROFILE/DROP LATCH 
UPROFILE FOR PIN LOCK

Ask for price

4210726

FRONTPART H100 BOARDPROFILE/5 BARS HINGER UPROFILE/DROP LATCH 
UPROFILE FOR PIN LOCK

Ask for price

4210823

FRONTPART H100 BOARDPROFILE HINGER POST/DROP LATCH POST FOR PIN LOCK

Ask for price

4210603

FRONTPART H100 BOARDPROFILE/2BARS HINGER POST/DROP LATCH POST FOR PIN 
LOCK

Ask for price

36



4210723

FRONTPART H100 BOARDPROFILE/5BARS HINGER POST/DROP LATCH POST FOR PIN 
LOCK

Ask for price

38519

MOUNTING KIT FOR FRONT PART AGAINST WALL

15,50€

4000904

KIT FOR GATE WITH PIN BOLT

13,50€

4800010

10 PCS. STAINLESS STEEL BUTTON HEAD SCREWS 10 X 70 AND WALL PLUG

ACCESSORIES FOR FLOOR

20,50€

4210811

GATE H100 BOARDPROFILE WITH PIN LOCK, 300-1400 MM

Ask for price

4210611

GATE H100 BOARDPROFILE/2 BARSWITH PIN LOCK, 300-1400 MM

Ask for price

4210711

GATE H100 BOARDPROFILE/5 BARSWITH PIN LOCK, 300-1400 MM

Ask for price

Clean-O-Flex 1000 for Pinlock gate Unassembled

112407

33.7 X 2.60 PIPE GALVANIZED LENGTH 6 METER

63,00€

7910099

BOARD PROFILE 35X250 MM SPEC. LENGTH

Ask for price

30100

BOARD PROFILE 35X250 MM LENGTH 6 METER

80,00€

7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

4210824U

KIT FOR FRONTPART H100 BOARDPROFILE UPROFILE/DROP LATCH UPROFILE FOP 
PIN LOCK

67,00€

37



4210604U

KIT FOR FRONTPART H100 BOARDPROFILE/2 BARS UPROFILE/DROP LATCH 
UPROFILE FOR PIN LOCK

68,50€

4210724U

KIT FOR FRONTPART H100 BOARDPROFILE/5 BARS DROP LATCH UPROFILE FOR PIN 
LOCK

70,50€

4210822U

KIT FOR FRONTPART H100 BOARDPROFILE UPROFIL/DROP LATCH POSTFOR PIN 
LOCK

99,00€

4210602U

KIT FOR FRONTPART H100 BOARDPROFILE/2 BARS UPROFILE/DROP LATCH POST 
FOR PIN LOCK

100,00€

4210722U

KIT FOR FRONTPART H100 BOARDPROFILE/5 BARS UPROFILE/DROP LATCH 
POSTFOR PIN LOCK

102,50€

4210825U

KIT FOR FRONTPART H100 BOARDPROFILE HINGER UPROFILE/UPROFILE FOR PIN 
LOCK

71,50€

4210605U

KIT FOR FRONTPART H100 BOARDPROFILE/2 BARS HINGER UPROFILE/UPROFILE 
FOR PIN LOCK

73,00€

4210725U

KIT FOR FRONTPART H100 BOARDPROFILE/5 BARS HINGER UPROFILE/UPROFILE 
FOR PIN LOCK

75,00€

4210821U

KIT FOR FRONTPART H100 BOARDPROFILE HINGER POST/UPROFILE FOR PIN LOCK

112,00€

4210601U

KIT FOR FRONTPART H100 BOARDPROFILE/2 BARS HINGER POST/UPROFILE FOR PIN 
LOCK

113,00€

4210721U

KIT FOR FRONTPART H100 BOARDPROFILE/5 BARS HINGER POST/UPROFILE FOR PIN 
LOCK

115,00€

4210826U

KIT FOR FRONTPART H100 BOARDPROFILE HINGER UPROFILE/DROP LATCH 
UPROFILE FOR PIN LOCK

82,50€

38



4210606U

KIT FOR FRONTPART H100 BOARDPROFILE/2 BARS HINGER UPROFILE/DROP LATCH 
UPROFILE FOR PIN LOCK

83,50€

4210726U

KIT FOR FRONTPART H100 BOARDPROFILE/5 BARS HINGER UPROFILE/DROP LATCH 
UPROFILE FOR PIN LOCK

85,50€

4210823U

KIT FOR FRONTPART H100 BOARDPROFILE HINGER POST/DROP LATCH POST FOR 
PIN LOCK

154,50€

4210603U

KIT FOR FRONTPART H100 BOARDPROFILE/2 BARS HINGER POST/DROPLATCH POST 
FOR PIN LOCK

155,50€

4210723U

KIT FOR FRONTPART H100 BOARDPROFILE/5 BARS HINGER POST/DROPLATCH POST 
FOR PIN LOCK

157,50€

Grill for Clean-O-Flex 1000 for gate fullpen

4210876

STAINLESS STEEL CONTACT GRILLE H1000 L200-1576 WITH HINGER

4210876 STANDARD LENGTHS: 1076/1296/1576 MM

Ask for price

Clean-O-Flex 1000 for gate fullpen

4210528

SIDE H100 BOARDPROFILE POST/UPROFILE FOR GATE FULLPEN

Ask for price

4210526

SIDE H100 BOARDPROFILE/2 BARSPOST/UPROFILE FOR GATE FULLPEN

Ask for price

4210527

SIDE H100 BOARDPROFILE/5 BARSPOST/UPROFILE FOR GATE FULLPEN

Ask for price

4210531

FRONT PART H100 BOARDPROFILE FOR GATE FULL PEN

Ask for price

4210529

FRONT PART H100 BOARDPROFILE/2 BARS FOR GATE FULL PEN

Ask for price

4210530

FRONT PART H100 BOARDPROFILE/5 BARS FOR GATE FULL PEN

Ask for price

39



4200102

WALL BRACKET RIGHT INCL. ANGLEBRACKET AND SCREWS

87,00€

4200103

WALL BRACKET LEFT INCL. ANGLEBRACKET AND SCREWS

87,00€

4210506

GATE FULL PEN H100 BOARDPROFILE 100-2600 MM

Ask for price

4210504

GATE FULL PEN H100 BOARDPROFILE/2 BARS 100-2600 MM

Ask for price

4210505

GATE FULL PEN H100 BOARDPROFILE/5 BARS 100-2600 MM

Ask for price

Clean-O-Flex 1000 for gate fullpen Unassembled

112407

33.7 X 2.60 PIPE GALVANIZED LENGTH 6 METER

63,00€

7910099

BOARD PROFILE 35X250 MM SPEC. LENGTH

Ask for price

30100

BOARD PROFILE 35X250 MM LENGTH 6 METER

80,00€

7910105

BOARD PROFILE 35X750 MM SPEC. LENGTH

Ask for price

30106

BOARD PROFILE 35X750 MM LENGTH 6 METER

250,50€

4210528U

KIT FOR SIDE H100 BOARDPROFILE HINGE POST/UPROFILE FOR GATEFULLPEN

127,50€

4210526U

KIT FOR SIDE H100 BOARDPROFILE/2 BARS POST/UPROFILE FOR GATE FULLPEN

129,00€

4210527U

KIT FOR SIDE H100 BOARDPROFILE/5 BARS POST/UPROFILE FOR GATE FULLPEN

131,00€

40



4210531U

KIT FOR FRONT PART H100 BOARDPROFILE FOR GATE FULLPEN

121,00€

4210529U

KIT FOR FRONT PART H100 BOARDPROFILE/2 BARS FOR GATE FULLPEN

122,00€

4210530U

KIT FOR FRONT PART H100 BOARDPROFILE/5 BARS FOR GATE FULLPEN

124,00€

Clean-O-Flex 1000 for Liquid feeding wall

39705

LIQUIDFEED WALL H100 BOARDPRIFILE/1 BAR FOR 1+2 DOWNPIPE 
UPROFILE/DOWNPIPE

Ask for price

39706

LIQUIDFEED WALL MIDDEL PIECE H100 BOARDPROFILE/1 BAR

Ask for price

4200706

SCREWS AND PLUG FOR 39706 LIQUIDFEED WALL

13,50€

39718

LIQUIDFEED WALL FOR 1 DOWNPIPE H100 BOARDPROFILE/1 BAR WITHOUT 
DOWNPIPE

Ask for price

4200707

SCREWS/PLUG/UPROFILE FOR 39718 LIQUIDFEED WALL

32,50€

4210701

LIQUIDFEEDING WALL H100 BOARDPROFILE/1 BAR WITHOUT DOWNPIPE MAX. 6 
METER

Ask for price

4210007

LIQUID FEEDING WALL H100 CLOSED

Ask for price

39234

LIQUID FEEDING TROUGH FINISHER DOUBLE

Ask for price

1950311

LIQUID FEED TROUGH FINISHER DOUBLE WITH DRAIN

Ask for price

31000

SUPPORT FOOT SET, DOUBLE TROUGH, INTEGRATED DOWNPIPE, FINISHER

168,50€

41



39211

LIQUID FEEDING TROUGH FINISHER SINGLE

Ask for price

1950312

LIQUID FEED TROUGH FINISHER SINGLE WITH DRAIN, LEFT

Ask for price

1950313

LIQUID FEED TROUGH FINISHER SINGLE WITH DRAIN, RIGHT

Ask for price

31001

FOOT BRACKET FOR EXTRA FOOT OR FOR SINGLE TROUGH, FINISHER

19,50€

31050

WALLBRACKET F/SINGEL TROUGH AGAINST WALL

4,50€

31051

WALLBRACKET FOR SINGEL TROUGHSINGEL AGAINST BOARDPROFILE

4,00€

31052

WALLBRACKET FOR SINGEL TROUGHDOUBLE AGAINST BOARDPROFILE

5,50€

Clean-O-Flex 1000 Rare front part

37007

FRONT PART H100 BOARDPROFILE/2 BARS RECEIVER UPROFILE/RECEIVER 
UPROFILE FOR TWISTLOCK

Ask for price

36874E

FRONT PART H100 BOARDPROFILE/5 BARS RECEIVER UPROFILE/RECEIVER 
UPROFILE FOR TWISTLOCK

Ask for price

36910

FRONT PART H100 BOARDPROFILE/2 BARS HINGE UPROFILE/HINGE UPROFILE FOR 
TWISTLOCK

Ask for price

36870

FRONT PART H100 BOARDPROFILE/5 BARS HINGE UPROFILE/HINGE UPROFILE FOR 
TWISTLOCK

Ask for price

4210516

FRONT PART H100 BOARDPROFILE/2 BARS RECEIVER POST/RECEIVER POST FOR 
TWISTLOCK

Ask for price

42



4210511

FRONT PART H100 BOARDPROFILE/5 BARS RECEIVER POST/RECEIVER POST FOR 
TWISTLOCK

Ask for price

4210514

FRONT PART H100 BOARDPROFILE/2 HINGE POST/HINGE POST FOR TWISTLOCK

Ask for price

4210510

FRONT PART H100 BOARDPROFILE/5 HINGE POST/HINGE POST FOR TWISTLOCK

Ask for price

Funki Fiber 1000

4660451

WASHING WALL H100 PLATE

Ask for price

4610448

ASSEMBLER KIT FOR WASHING WALL H100

36,50€

4660475

SIDE H100 PLATE

Ask for price

4600433

ASSEMBLY POST H100

30,50€

4600440

POST KIT H100 COMBI PLATE/3 BARS

36,00€

4600442

POST H100 PLATE FOR FEEDERS

42,00€

4600438

POST KIT H100 PLATE/3 BARS

44,50€

4600445

POST H100 PLATE FOR 3 BARS/FEEDERS

49,00€

38524

MOUNT KIT FOR U-POST AGAINST FEEDERS

18,50€

4510648

SIDE H64,2 PLATE LENGTH 4100-6000 MM EX. ASSEMBLY KIT 4500645

REMEMBER ASSEMBLY KIT 4500645

Ask for price

43



4560647

SIDE H64,2 PLATE MAX. LENGTH 4100 MM

Ask for price

4500645

ASSEMBLY KIT H64,2 PLATE

18,50€

4610410

3 BARS 1" GALVANIZED PRICE PER METER

Ask for price

4500653

3 ROUND CAP BLACK (1' PIPE)

1,00€

38944

1 PCS. STIFFENING BRACKET SETFOR 3 BARS ON PLATE

14,00€

4600482

2 PCS STIFFENING BRACKET SET FOR 3 BARS ON PLATE

24,50€

4600483

3 PCS STIFFENING BRACKET SET FOR 3 BARS ON PLATE

36,00€

4600484

4 PCS STIFFENING BRACKET SET FOR 3 BARS ON  PLATE

48,00€

4600485

5 PCS STIFFENING BRACKET SET FOR 3 BARS ON PLATE

60,00€

4500452

MOUNTING KIT FOR GRILL/FRONT PART

1,50€

38534

MOUNTING KIT FOR GRILLE COMP-O-FLEX AGAINST FRONT PART

10,25€

38553

MOUNTING KIT PLATE/3 BARS WITHOUT POST AGAINST FRONT PART

30,50€

4500661

MOUNTING KIT FOR PARTITION AGAINST WALL

11,00€

4500662

MOUNTING KIT FOR PARTITION AGAINST FRONT PART/WASHING WALL

14,00€

44



4500655

LOOSE FOUNDATION SET LEFT ANDRIGHT FOR PLATE

29,00€

4901802

SUPPORT FOUNDATION FOR SLATS FIBER

16,00€

4901806

SUPPORT FOUNDATION FOR CONCRETE FIBER

11,50€

8460700

PLATIC PLATE 2 MM FOR SUPORT FOR FOUNDATION

8,00€

Grill for Funki Fiber 1000

4250876

STAINLESS STEEL CONTACT GRILLE H1000 H200-1540

4250876 STANDARD LENGTHS: 1040/1260/1540 MM

Ask for price

Funki Fiber 1000 for Pinlock gate Stainless steel

4610501

PLATE FRONT PART HINGE/RECEIVER H100 FOR 4610500

Ask for price

4610502

PLATE FRONT PART HINGE/HINGE H100 FOR 4610500

Ask for price

4610503

PLATE FRONT PART RECEIVER/RECEIVER H100 FOR 4610500

Ask for price

4610504

PLATE FRONT PART RECEIVER/WALL H100 FOR 4610500

Ask for price

4610506

PLATE FRONT PART HINGE/WALL H100 FOR 4610500

Ask for price

4610500

PLATE GATE H100 LENGTH 1200 MM

232,50€

4610510

GATE H100 PLATE LENGTH 60-130 CM

Ask for price

Funki Fiber 1000 for Pinlock gate

45



4610401

FRONT PART H100 PLATE/3 BARS HINGE/RECEIVER

Ask for price

4610402

FRONT PART H100 PLATE/3 BARS HINGE/HINGE

Ask for price

4610403

FRONT PART H100 PLATE/3 BARS RECEIVER/RECEIVER

Ask for price

4610404

FRONT PART H100 PLATE/3 BARS WALL/RECEIVER

Ask for price

4610406

FRONT PART H100 PLATE AGAINST WALL/HINGE 300 MM

98,50€

4610407

FRONT PART H100 PLATE AGAINST WALL/RECEIVER MAX. 400 MM

Ask for price

4610420

GATE H100 PLATE/3 BARS 120 CM WITH PIN LOCK

377,50€

4610430

GATE H100 PLATE/3 BARS 130 CM WITH PIN LOCK

394,50€

4610435

GATE H100 PLATE/3 BARS 60-130 CM WITH PIN LOCK

Ask for price

Funki Fiber 1000 for gate fullpen

4660471

FRONT PART H100 PLATE GATE FULL PEN FOR 2 HINGE

Ask for price

4660473

FRONT PART H100 PLATE GATE FULL PEN FOR 4 HINGE

Ask for price

4500644

MOUNTING KIT FOR FRONT PART FOR GATE FULL PEN, INCL FOUNDATIN PLATE

49,50€

4610465

GATE FULL PEN H100 PLATE/3 BARS 90-250 CM

Ask for price

Funki Fiber 1000 for Liquid feeding wall

46



4610461

LIQUIDFEEDING WALL H100 PLATE/3 BARS AGAINST WAND, DOWNPIPE

Ask for price

4610462

LIQUID FEEDING WALL H100 PLATE/3 BARS AGAINST FRONT, DOWNPIPE

Ask for price

4610463

LIQUID FEED WALL H100 PLATE/3 BARS, CENTER PIECE

Ask for price

4600464

SCREWS/PLUG/UPROFILE FOR 4610463  LIQUIDFEED WALL

24,50€

4560639

PLATE H57 FOR LIQUID FEEDING WALL WITHOUT DOWNPIPE MAX. LENGTH 4100 MM

Ask for price

4510640

PLATE H57 FOR LIQUIDFEEDING WALL WITHOUT DOWNPIPE, LENGHT 4100-6000 MM 
EX. ASSEMBLY KIT 4500642

REMEMBER ASSEMBLY KIT 4500642

Ask for price

4500642

ASSEMBLY KIT H57 PLATE FOR LIQUIDFEEDING WALL WITHOUT DOWNPIPE

17,50€

39234

LIQUID FEEDING TROUGH FINISHER DOUBLE

Ask for price

1950311

LIQUID FEED TROUGH FINISHER DOUBLE WITH DRAIN

Ask for price

4500663

SUPPORT FOOT SET, DOUBLE TROUGH, PLATE, FINISHER

190,00€

39211

LIQUID FEEDING TROUGH FINISHER SINGLE

Ask for price

1950312

LIQUID FEED TROUGH FINISHER SINGLE WITH DRAIN, LEFT

Ask for price

1950313

LIQUID FEED TROUGH FINISHER SINGLE WITH DRAIN, RIGHT

Ask for price

31001

FOOT BRACKET FOR EXTRA FOOT OR FOR SINGLE TROUGH, FINISHER

19,50€

47



31050

WALLBRACKET F/SINGEL TROUGH AGAINST WALL

4,50€

4500664

WALLBRACKET FOR SINGEL TROUGH AGAINST PLATE

3,00€

4500665

WALLBRACKET FOR SINGEL TROUGH DOUBLE AGAINST PLATE

5,00€

Manipulation materials

4960518

MANIPULATION MATERIALS Ø125 PE
PLAYING MATERIALS

11,50€

4900535

MOUNTING KIT MANIPULATION MATERIALS Ø 25 PVC ON PLATE/BOARDPROFILE
ACCESSORIES FOR PEN EQUIPMENT

2,00€

4900534

MOUNTING KIT MANIPULATION MATERIALS Ø125 PVC ON FARROWING PARTITION
ACCESSORIES FOR PEN EQUIPMENT

6,00€

2100641

STRAW HOLDER 10 LITER FOR FARROWING FIBER

MANIPULATION MATERIALS

89,00€

4920526

STRAW HOLDER GALVANIZED 35 LITER FOR FINISHER AND WEANERS 588 X 514 X 
205 MM 

MANIPULATION MATERIALS

62,00€

1920526

STRAW HOLDER GALVANIZED 255 LITER FOR SOWS, 1188X714X469 MM 

MANIPULATION MATERIALS

190,50€

4900466

CONNECTING SCREW SET 39-48 MM, STAINLESS

ACCESSORIES FOR FLOOR

1,00€

4900467

CONNECTING SCREW SET 44-58 MM, STAINLESS

ACCESSORIES FOR FLOOR

1,00€

20037

MASTER CLAMP WASHER Ø10.5X45X1.5 MM A2
FLAT WASHERS WITHOUT CHAMFER

2,00€

1900109

U-BOLT 1" M8 WITH NUTS GALVANISED

ACCESSORIES FOR PEN EQUIPMENT

1,00€

48



Mounting in floor

4800010

10 PCS. STAINLESS STEEL BUTTON HEAD SCREWS 10 X 70 AND WALL PLUG

ACCESSORIES FOR FLOOR

20,50€

4800008

10 PCS BOLT-ON FITTINGS WITH 2 THREAD FOR CAST IRON SLATS

ACCESSORIES FOR FLOOR

26,50€

96967

10 PCS BOLT-ON FITTINGS SMALL FOR CAST IRON SLATS

ACCESSORIES FOR FLOOR

45,50€

1900241

10 PCS BOLT-ON FITTINGS LARGE FOR CAST IRON SLATS

ACCESSORIES FOR FLOOR

87,00€

1900515

SLAT ANCHOR 8 MM GREEN, 10 PIECES  30X35X9 MM EX. SCREWS

SLAT ANCHOR

11,00€

4800025

10 PIECE ANCHOR SET M8 80-115 MM

ACCESSORIES FOR FLOOR

53,50€

4800030

10 PIECE ANCHOR SET M8 100-130 MM

ACCESSORIES FOR FLOOR

61,00€

4800035

10 PIECE ANCHOR SET M8 130-160 MM

ACCESSORIES FOR FLOOR

54,50€

4800040

10 PIECE ANCHOR SET M8 100-130 MM

ACCESSORIES FOR FLOOR

56,00€

4800045

10 PIECE ANCHOR SET M8 120-150 MM

ACCESSORIES FOR FLOOR

63,50€

4800050

10 PIECE ANCHOR SET M8 150-180 MM

ACCESSORIES FOR FLOOR

57,50€

29100066

THREAD GLUE STRONG, ACO FUNKI 250ML FOR 150 SCREWS

167,00€

29100067

THREAD GLUE STRONG, ACO FUNKI 16,5 ML FOR 10 SCREWS

ACCESSORIES FOR FLOOR

17,50€

49



17095

SLAT ANCHOR 8 MM GREEN (10 PCS) 40 X 30 X 15 MM 

SLAT ANCHOR

28,50€

17129

SLAT ANCHOR 10 MM GREEN (10 PCS)  40 X 30 X 15 MM 

SLAT ANCHOR

42,00€

18958

RHOMB SCREW-ANCHOR PIGLETSLATS (BAG WITH 10 PCS.)

SLAT ANCHOR

53,00€

4800871

10 PCS. T-BOLT FOR 80-100 MM CONCRETE SLATS STAINLESS STEEL

ACCESSORIES FOR FLOOR

76,00€

4800875

10 PCS. T-BOLT FOR 90-120 MM CONCRETE SLATS STAINLESS STEEL

ACCESSORIES FOR FLOOR

97,00€

4800876

10 PCS. T-BOLT FOR 120-150 MM CONCRETE SLATS STAINLESS STEEL

ACCESSORIES FOR FLOOR

169,50€

4800020

10 PCS. T-BOLT FOR 80-130 MM CONCRETE SLATS STAINLESS STEEL

ACCESSORIES FOR FLOOR

84,50€

90100079

50 MM DISPLACED T-BOLT

ACCESSORIES FOR FLOOR

6,50€

30310120

BUTTON HEAD TORX 50 M10X120 STAINLESS STEEL

ACCESSORIES FOR FLOOR

8,00€

30872

BUTTON HEAD TORX 50 M10X90 STAINLESS STEEL

ACCESSORIES FOR FLOOR

3,50€

30310080

BUTTON HEAD TORX 50 M10X80 STAINLESS STEEL

ACCESSORIES FOR FLOOR

3,00€

Blocking gate

1800720

BLOCKING GATE H75 MAX HOLE MEASUREMENTS 120 CM

BLOCKING GATE IN BAORDPROFILE

153,00€

1800730

BLOCKING GATE H100 MAX HOLE MEASUREMENTS 120 CM

BLOCKING GATE IN BAORDPROFILE

185,50€

50



1800721

BLOCKING GATE H75 MAX HOLE MEASUREMENTS 170 CM

BLOCKING GATE IN BAORDPROFILE

175,00€

1800731

BLOCKING GATE H100 MAX HOLE MEASUREMENTS 170 CM

BLOCKING GATE IN BAORDPROFILE

212,00€

1800722

BLOCKING GATE H75 MAX HOLE MEASUREMENTS 220 CM

BLOCKING GATE IN BAORDPROFILE

197,00€

1800732

BLOCKING GATE H100 MAX HOLE MEASUREMENTS 220 CM

BLOCKING GATE IN BAORDPROFILE

240,50€

1810723

BLOCKING GATE H75 30-250 CM

Ask for price

1810733

BLOCKING GATE H100 30-250 CM

Ask for price

1800724

BLOCKING GATE KIT H75

99,50€

1800734

BLOCKING GATE KIT H100

114,00€

1900281

BLOCKING GATE POST/POST WALL/WALL

ACCESSORIES FOR BLOCKING GATE

25,00€

1900285

POST FOR BLOCKING GATE

ACCESSORIES FOR BLOCKING GATE

52,50€

1900287

BRACKET FOR DROP LATCH AWAY FROM GATE

ACCESSORIES FOR GATE

20,00€

1900288

BRACKET FOR DROP LATCH ON GRILLE

ACCESSORIES FOR GATE

21,00€

1900289

CLAMP PLATE FOR DROP LATCH

ACCESSORIES FOR PEN EQUIPMENT

5,00€

1920167

DROP LATCH 30 MM EXCL. BOLTS AND SCREWS

ACCESSORIES FOR GATE

30,00€

51



1920142

DROP LATCH 40 MM EXCL. BOLTS AND SCREWS

ACCESSORIES FOR GATE

6,00€

1920168

DROP LATCH 50 MM EXCL. BOLTS AND SCREWS

ACCESSORIES FOR GATE

30,00€

1915011

GATE STOP 40 MM EXCL. BOLTS AND SCREWS

ACCESSORIES FOR GATE

4,00€

1900291

POST FOR BLOCKING GATE

ACCESSORIES FOR BLOCKING GATE

34,50€

1920042

DROP LATCH 30MM FOR POST, GALVANIZED

ACCESSORIES FOR GATE

30,00€

1915043

DROP LATCH 40 MM FOR POST, GALVANIZED

ACCESSORIES FOR GATE

4,50€

1920044

DROP LATCH 50 MM FOR POST, GALVANIZED

ACCESSORIES FOR GATE

19,00€

Blocking gate - Reversible

34600

BLOCKING GATE H75 BOARDPROFILE REVERSIBLE

Ask for price

38600

BLOCKING GATE H100 BOARDPROFILE REVERSIBLE

Ask for price

41890

BRACKET FOR REVERSIBLE BLOCKING GATE FOR MOUNTING ON GRILLE

23,50€

41891

BRACKET FOR REVERSIBLE BLOCKING GATE FOR MOUNTING ON GRILLEAND PLATE

20,00€

41895

BRACKET FOR REVERSIBLE BLOCKING GATE H75/H100 FOR MOUNTING ON WALL

15,00€

41896

BRACKET FOR REVERSIBLE BLOCKING GATE FOR MOUNTING ON POST

53,00€

52



41898

BRACKET FOR REVERSIBLE BLOCKING GATE FOR MOUNTING ON BOARDPROFILE

12,00€

53



ACO FUNKI A/S general terms of sales and delivery 
This price list is valid from the 1st of April 2021 and replaces all previously published price lists. All prices are gross 
prices excluding VAT and are subject to the following general sales and delivery terms.

ACO FUNKI A/S is not liable for misprints or product and price changes.

The sales and delivery terms stated below are valid unless a written agreement of derogation is signed between 
ACO FUNKI A/S and Buyer.

Drawings and product information
Drawings, wording in quotes, illustrations, technical specifications and other product information etc. are guiding 
and without any obligation or liability. ACO FUNKI A/S is not liable for any errors, misinterpretations, notices or 
laws etc.

Project material (drawings, illustrations, quotes etc.) are the property of ACO FUNKI A/S and can not be handed 
over to other parties without the written consent of ACO FUNKI A/S. If this requirement is not met, ACO FUNKI A/S 
reserves the right to invoice its internal costs.

Quotes
Quotes are made subject to prior sale and validity of quotes. Quotes specifically state validity. ACO FUNKI A/S 
reserves the right to withdraw any quote without any prior notice.

Prices
All prices are excluding VAT and based on all known taxes and material costs at the time of quote submission. 
ACO FUNKI A/S reserves the right to price regulations due to changes in taxes or material costs.

Payment terms
8 days net.  Buyer is not justified to set off any claims in payments without prior written consent of ACO FUNKI A/S. 
Overdue payments are subject to 1.5% interest per commenced month. ACO FUNKI A/S reserves the right to 
require a payment guarantee at any time. 

Handling fee
Orders amounting to less than 536 Euros are subject to a handling fee of 27 Euros.

Delivery terms
EXW Herning - according to Incoterms 2020. (ACO FUNKI A/S has taken out transport insurance on all deliveries, 
notwithstanding delivery condition.)

Time of delivery
Our time of delivery is according to agreement between Buyer and ACO FUNKI A/S.

Packing materials
The packaging fees are subject to changes in the daily price, and can be changed without notice.
Currently, pallets are invoiced at 23 Euros each, and transport frames 20 Euros each. (Return is not possible due 
to risk of infection.)

Return of goods
Return goods are only accepted according to prior and specific agreement between Buyer and ACO FUNKI A/S. 
ACO FUNKI A/S only accepts return of unused, non-damaged standard goods, which have never been installed. 
Return goods must be in original packing. Return goods will be credited at 80% of the items’ net price. 

If ACO FUNKI A/S is project liable all excess items after project completion are the property of ACO FUNKI A/S.

54



 

Other terms

Mounting
Mounting is not included in quotes from ACO FUNKI A/S, unless otherwise clearly stated in the order confirmation. 
The same applies to all electric/construction and foundation work. 

Mounting is only performed at a fixed price if the mounting site is empty, cleaned up and in an already prepared 
condition. It is the responsibility of the Buyer to place the material closest possible to the mounting site and to 
ensure an acceptable accessibility of the mounting site, in accordance with the assessment of Service and 
Mounting department. 

If mounting coincides with other on site work performed by third party, mounting is carried out at an hourly payment 
rate. 

ACO FUNKI A/S reserves the right to change the agreed price on projects with fixed mounting price, if the Service 
and mounting department does not find the mounting site properly prepared. ACO FUNKI A/S also reserves the 
right to invoice additional time spent on any in vain driving, wages, site cleaning, removal of goods etc. 

Self-supporting cast iron, concrete slats and polymer troughs are never included in the mounting prices, except 
when otherwise specifically stated in the order confirmation. 

All water installations end by the end of the row or on the inside of the section, except when otherwise specifically 
stated in the order confirmation.

When Buyer self is responsible for mounting, all adjustments to the equipment are at own risk (pipes, board profiles 
etc.) regardless of any acquired supervision from ACO FUNKI A/S. 

Self-supporting cast iron 

Due to production method fluctuations in dimensions and sizes may occur. As a result, the product may be uneven. 

None of these fluctuations are of any significant importance to the product functionality. Cast iron slats are only 
intended for pigs and should not be exposed to any other strain.

General information

Colour difference may generally occur in the products, especially products produced of miscellaneous types of 
PVC/ plastic/fiber material. 

The buyer holds the responsibility of storing the purchased goods under a roof so that the goods are not exposed 
to frost, water and direct sunlight.

Any damage as a result of incorrect storage as well as damage during transport at the place of delivery is the 
responsibility of the buyer.

All types of water valves are designed for a working pressure of 2.5-3.0 bar. It is the buyer’s responsibility to 
measure and possibly regulate the water pressure.

ACO FUNKI A/S does not accept complaints on water valves used at a working pressure above 3 bar.

When extra deliveries of goods or services are requested due to alleged lacks, ACO FUNKI A/S reserves the right 
to invoice the goods’ value as well as any other additional costs, in case a previous delivery has been made or the 
alleged lacks are groundless. 

ACO FUNKI A/S disclaims complaint liability if any acid has been added to water/feed without prior accept. ACO 
FUNKI A/S also disclaims liability if the concrete indoor climate, does not meet with the standards of good indoor 
climate.

The description of goods should only be considered as guiding and is subject to errors. Therefore the component 
list is valid for the quote. If the component list is not attached to the quote, it is imposed on the Buyer to obtain it. 

For all other conditions regarding deliveries excluding installation, NL92 applies, except for the last sentence of 
point No. 11 as well as points Nos. 13 and 14.

55



webshop-acofunki.aco.com

ACO FUNKI A/S
Price list 2022

www.acofunki.com
+45 97 11 96 00
acofunki@acofunki.dk

ACO FUNKI specializes in 
developing and producing modern 
pig housing equipment for the pig 
producers worldwide.

Kirkevænget 5
7400 Herning
Denmark


	Blank Page



